

NAME: OLUYAYO AYODEJI SAMUEL

MATRICNO: 171ENG051034

DEPARTMENT: Mechanical Engineering

$$1. y = e^{2x+x^2}$$

$$y' = (2x+1)e^{2x+x^2}$$

$$y'' = 2e^{2x+x^2} + (2x+1)^2 e^{2x+x^2}$$

$$y'' = 2e^{2x+x^2} + (2x+1)^2 e^{2x+x^2}$$

$$y'' - (2x+1)^2 y = 2y$$

$$= (2x+1)^2 e^{2x+x^2} + 2e^{2x+x^2}$$

$$\text{but } y'' = 2e^{2x+x^2} + (2x+1)^2 e^{2x+x^2}$$

$$\therefore y'' = y'(2x+1) + 2y$$

From the above equation

Part A

$$A = y^a, \quad A' = y^{a+1}, \quad A'' = y^{a+2}$$

Part B

$$B = y^c \quad c^a = 2x+1$$

$$V = y^1 \quad u^a = y^{a+1}$$

$$V = 2x+1 \quad v^1 = 2 \quad v^2 = 0$$

$$\therefore B^a = (y^{a+1})^2 + (2y^a) = 0$$

$$B^a = (2x+1)^2 y^{a+2} + 2y^{a+1}$$

Part C

$$C = 2y \quad c^a = 2y^a$$

$$\therefore A^a = B^a + C^a$$

$$y^{a+2} = (2x+1)^2 y^{a+2} + 2y^{a+1} + 2y^a$$

$$y^{a+2} = (2x+1)^2 y^{a+2} + 2y^a (2x+1)$$

$$\therefore y^{a+2} = (2x+1)^2 y^{a+2} + 2(2x+1)y^a$$

$$2. y = 2^x e^{2x} \quad y^{(a)}$$

Let $u = e^{4x}$, $u' = 4e^{4x}$, $u'' = 16e^{4x}$, $u''' = 64e^{4x}$

Let $v = x^3$, $v' = 3x^2$, $v'' = 6x$, $v''' = 6$, $v^{(4)} = 0$

By Leibnitz Theorem

$$y^{(n)} = \binom{n}{0} 4^n e^{4x} x^3 + \binom{n}{1} 4^{n-1} e^{4x} \cdot 3x^2 + \binom{n}{2} 4^{n-2} e^{4x} \cdot 6x + \binom{n}{3} 4^{n-3} e^{4x} \cdot 6 + \binom{n}{4} 4^{n-4} e^{4x} \cdot 0 + \dots$$

$$y^{(n)} = 4^n e^{4x} x^3 + 3x^2 \cdot n \cdot 4^{n-1} e^{4x} + 3n(n-1) 4^{n-2} e^{4x} x + n(n-1)(n-2) 4^{n-3} e^{4x}$$

$$\therefore y^{(5)} = 4^5 e^{4x} x^3 + 3x^2 (5) \cdot 4^4 e^{4x} + 3(5)(4) 4^3 e^{4x} x + (5)(4)(3) 4^2 e^{4x}$$

$$y^{(5)} = 610 e^{4x} x^3 + 3780 e^{4x} x^2 + 3780 e^{4x} x + 960 e^{4x}$$

$$y^{(5)} = 610 e^{4x} (10x^3 + 60x^2 + 60x + 15)$$

a) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} - y = 0$

Show that $x^2 y^{(n+2)} + (2n+1) y^{(n+1)} - n^2 y^{(n)} = 0$

for part A

$A = x^2 y''$

$u = y''$, $u' = y^{(3)}$

$v = x^2$, $v' = 2x$, $v'' = 2$, $v^{(3)} = 0$

$$A^{(n)} = \binom{n}{0} (y^{(n+2)}) x^2 + \binom{n}{1} (y^{(n+3)}) 2x + \binom{n}{2} (y^{(n+4)}) 2 + \dots$$

$$A^{(n)} = x^2 y^{(n+2)} + 2x n y^{(n+3)} + n(n-1) y^{(n+4)}$$

for part B

$B = x y'$

$u = y'$, $u' = y''$

$v = x$, $v' = 1$, $v'' = 0$

$$B^{(n)} = \binom{n}{0} (y^{(n+1)}) x + \binom{n}{1} (y^{(n+2)}) 1 + \dots$$

$$= x y^{(n+1)} + n y^{(n+2)}$$

for part C

$C = y$

$e^{(n)} = y^{(n)}$

$$A^{(n)} + B^{(n)} + C^{(n)} = 0$$

$$= x^2 y^{(n+2)} + 2x n y^{(n+3)} + n(n-1) y^{(n+4)} + x y^{(n+1)} + n y^{(n+2)} + y^{(n)} = 0$$

$$= x^2 y^{(n+2)} + x n y^{(n+3)} + n(n-1) y^{(n+4)} + x y^{(n+1)} + n y^{(n+2)} + y^{(n)} = 0$$

$$= x^2 y^{(n+2)} + (n+1) x y^{(n+3)} + n(n+1) y^{(n+4)} + x y^{(n+1)} + n y^{(n+2)} + y^{(n)} = 0$$